Tyh-dwb (7978) M12 L=45(

300) hEg “Efy b
1-D13 190,220 190 B
@) 3) @)
D10 @150 I =
1890 2880 2890 110 - T |
= == FG 1 A = DIt =
-0 - o _ o e —
= TvA=dwh (7998) M2 L=450 10 =
= - = 100 600 100
= ErE= 101 [ 110 —
F 1%
o
_ ~ Tvh-fwk (7996) M12 L=450 Tva-fwt (7998) M12 L=450 ~ | - Tuh-Emh (7926) M12 L=45(
= g kG "EFy b g "EFy b (mD s = 158~y |
| | 1-D13
Y N D10 @300 ==
- i 1-D10
600 7vh-kwk (7998 M17 L4450 I =
= lﬂ Mé':ij"yl‘ = LM
[—] Bl ] _D " Em
iz siE £l + 2
= T = | = | T = 100 ] [ 250 ] [ 100
=al | F o . F1 (220)
FG 1%
7890 7880 7890 % () RYERFGZ%2RY
8660
| Bmsex 125 |
| E@K®E 150
XEBMW S 5 0KN/of
£ R&ENo. FENo.
BREZ BRE K& &
[ERR—ZNYT R KKS 3030
N% _ AR | BN | N |EE
ERAN - ERFEN H5DHA10509A
®R 1 /50 | fmEAs b2 4 FRM TSRS




